DAILY BASIS ASSIGNMENT
DAY Tuesday CLASS: V DATE:05.05.2020

SUBJECT: ENGLISH

The following questions are from Grammar - Noun
Find out Proper Noun among the following options:
a. Car
b. Peace
c. Vikram
d. Team
Find out Common Noun among the following options:
a. Bundle
b. Book
c. Honesty
d. Truth
Find out Collective Noun among the following options:
a. Laughter
b. Boys
c. Poetry
d. Crowd
Find out Material Noun among the following options:
a. Gold
b. Pen
c. India
d. Beauty
Find out Abstract Noun among the following:
a. Army
b. Bravery
c. Ring
d. Umbrella

SUBJECT: EVS

I. Choose the correct answer

1. Some fruit scatter their seeds by exploding



a. Special features b. Bryophyllum ¢ Seed pods d. Seed leaves
2. The seeds which are spongy or fibrous carried away by
a. Wind b. Air c. Water d. Animal
3. Birds eat fruits and swallow their seeds, the undigested seeds then come out as it is in their
a. Faeces b. Firm c. Explosion d. Farm
4. Which of the following fruit is carried away by water?
a. Sycamore b. Cotton c. Coconut d. Root
5. Pods of squirting cucumber spread their seeds by

a. Seed pod b. Birds c. Explosion d. Expansion

SUBJECT: MATHS

I. Choose the correct option:

1.The product of 50 and 400 is

a)70,000 b) 60,000 c) 20,000 d)40,000
2.The product of 423 and 20 is

a)4,650 b)6,840 c) 2,680 d) 8,460
3.The product of 205 and 30 is

a)3,150 b) 4,250 c) 6,150 d) 8,250
4.The product of 75 and 800 is

2)80,000 b)60,000 c) 40,000 d)20,000
5.The product of 335 and 500 is

a) 1,67,500 b) 4,23,400 c) 6,42,500 d) 5,84,600

SUBJECT: COMPUTER

l. Choose the best options from those given below:

i) One of the world’s fastest super computer is
(a) IBM zSeries (b) IBM Roadrunner (c) System z9 (d) System z10



i) The smallest unit of data storage is a

(d) KB (b) GB (c) MB
iii) Primary memory is the memory of the computer
(@) Internal (b) External (c) Universal
(b)
iv) The user cannot read and write onto
(a) CD-ROM (b) RAM (c) ROM

V) The stored program concept was suggested by
(a) Egyptians  (b) Napier Bones (c) Charles Babbage
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